Oradell Board of Education/ Personnel Committee Report Addendum January 7, 2019

The Superintendent, in consultation with the Personnel Committee, recommends the following:

I. RETIREMENTS/RESIGNATIONS/TERMINATIONS:

A. That the Board of Education accepts the resignation for the following individual(s) on the date indicated:

Last Name	First Name	Position	Reason	Effective Date
Auriemma	Nicole	Administrative Assistant to Business Administrator & Board Secretary	Resignation	1/28/2019

II. NEW HIRES/APPOINTMENTS:

A. That the Board of Education approves the following individual(s) be appointed to the position(s) indicated at the salary listed for SY 2018-2019, effective as listed:

Last Name	First Name	Position	Salary	Effective Date
*Santiago	Jacqueline	Administrative Assistant to the Business Administrator/Board Secretary	\$60,000 (Prorated)	2/8/2019

^{*}Pending receipt of appropriate required documentation

B. That the Board of Education approves the following individual(s) be appointed to the position(s) indicated at the salary listed for SY 2018-2019, effective as listed:

Last Name	First Name	Position/ Position Code #	Salary	Effective Date
Yablen Chakansky	Deidre	Data Coordinator / #9030	\$48,000 (Prorated)	1/16/2019

C. That the Board of Education approves the following individual(s) be appointed as Substitute Teacher/Aide at the salary listed for SY 2018-2019:

Last Name	First Name	Posit	Salary	Effective Date	
	Ivaille	Substitute Teacher		Date	
*Perekupka	Cleo	X	X	\$90 Per Day	1/8/2019

^{*}Pending receipt of appropriate required documentation

- III. TRANSFERS/REASSIGNMENTS: NONE
- IV. LEAVES OF ABSENCE: NONE
- V. SALARY ADJUSTMENTS/REIMBURSEMENTS/PAYOUT OF DAYS/LONGEVITY:
 - A. Approval of Office Substitute for SY 2018-2019 It is hereby moved, upon recommendation of the Superintendent, that the Board approves the following individual as an Office Substitute at the salary listed for SY 2018-2019:

Last Name	First Name	Position	Effective Date
Nobile	Donna	Office Substitute: \$11.75 per hour	12/20/2018

B. Approval of Stipend for Professional Development Instructors - It is hereby moved, upon recommendation of the Superintendent that the Board approves the following stipends for professional development courses to be taught on the January 21, 2019, Staff Development Day:

	Last Name	First Name	Course Title	Length of Course	Compensation
1	Cuddy	Patty	Implementing Mindfulness in the Classroom	1 hour	60 Minutes for Instruction (\$35) 60 Minutes for Planning (\$20)
2	Kapp	Hellen	Communicating with Parents Using the Bloomz App	1 hour	60 Minutes for Instruction (\$35) 60 Minutes for Planning (\$20)

3	Lynch	Corinne	Google Classroom in the Primary Grades	1 hour	60 Minutes for Instruction (\$35) 60 Minutes for Planning (\$20)
4	Lynch (DeLucia)	Danielle	Teaching Phonics & Spelling Using a Differentiated Approach	1 hour	60 Minutes for Instruction (\$35) 60 Minutes for Planning (\$20)
5	Schaum	Traci	Developing Decision Making Skills in Children	1 hour	60 Minutes for Instruction (\$35) 60 Minutes for Planning (\$20)

VI. EMPLOYMENT STATUS CHANGES: NONE

VII. REVISIONS: NONE

VIII. SCHOOL ACTIVITIES/PROGRAMS:

A. REVISE [8/8/2018]Approval of Extra-Curricular Stipends for SY 2018-2019 - It is hereby moved, upon recommendation of the Superintendent, that the Board approves the following staff members for Extra Curricular Stipends for Evening Concerts (up to a maximum of 4) to a maximum of \$150 per teacher to a maximum of \$300 per concert as per OEA Contract in SY 2018-2019:

	Teacher	Extra-Curricular Position	Concert	Stipend	Maximum Reimbursement
1	Butcher,	Winter Evening	Instrumental 12/11/18	\$150	\$300.00
	James	Concerts	Choral 12/13/18	\$150	
2	Richardi,	Winter Evening	Instrumental 12/11/18	\$150	\$300.00
	Carol	Concerts	Choral 12/13/18	\$150	

B. Approval of Staff for Title I Before School Program for SY 2018-2019 - It is hereby moved, upon recommendation of the Superintendent, that the Board approves the following staff for Session I, (January 8, 2019 to February 28, 2019) of the Title I Before School Program for SY 2018-2019, in an amount not to exceed \$7,560.00:

	Name	Position	Class per week	Tentative Number of days in Session I	Salary	Maximum Total To Be Paid
1	Cleary, Jean	Title I Teacher	Mon-Thurs	28	\$45 per class meeting	28 @ \$45.00= \$1,260
2	Dell'Olio, Nikki	Title I Teacher	Mon-Thurs	28	\$45 per class meeting	28 @ \$45.00= \$1,260
3	De Lucia, Danielle	Title I Teacher	Mon-Thurs	28	\$45 per class meeting	28 @ \$45.00= \$1,260
4	Majka, Paige	Title I Teacher	Mon-Thurs	28	\$45 per class meeting	28 @ \$45.00= \$1,260
5	Sinclair, Kaitlin	Title I Teacher	Mon-Thurs	28	\$45 per class meeting	28 @ \$45.00= \$1,260
6	Telfer, Jennifer	Title I Teacher	Mon-Thurs	28	\$45 per class meeting	28 @ \$45.00= \$1,260
						\$7,560.
			Substitute Title	I Teacher		
7	Bendett, Debbie	Substitute Title I Teacher	Mon-Thurs As needed	28	\$45 per class meeting	
8	Malwitz, Diane	Substitute Title I Teacher	Mon-Thurs As needed	28	\$45 per class meeting	

C. Approval of Workshops/Conferences for SY 2018-2019 - It is hereby moved, upon recommendation of the Superintendent, that the Board approves the following Workshops/Conferences for SY 2018-2019:

	Attendee	Position/ Position Code	Conference/ Workshop	Sponsoring Agency	Location	Date(s)	Registration	Travel
1	Bozios, Megan	Principal	HIB Certification for NJ for Anti- Bullying Coordinators and Administrators	Educators Training Institute	Lodi, NJ	2/7/19	\$99.00	N/A
2	DeLucia (Lynch), Danielle	2nd Grade Teacher	NJIDA Winter Institute Food For Thought	NJIDA (NJ branch of International Dyslexia Association)	Clark, NJ	2/2/19	\$75.00	Mileage: \$13.39 Tolls: \$4.50
3	Distler, Linda	Supervisor of Special Education	ELL Program Supervisors and Coordinators Roundtable North	NJ DOE	Lyndhurst, NJ	1/16/19	\$0.00	Mileage: \$6.45
4	Hagopian Michael	Asst. Principal	TECHSPO '19	NJ ASA (NJ Association of School Administrators)	Atlantic City, NJ	1/31/19 - 2/1/19	\$450.00	Mileage: \$90.59 Tolls:\$13.50 M&IE:\$99 Hotel (1 night): \$93.63
5	Rose, Nora	ESL	NJTESOL/ NJBE 2019 Spring Conference	NJTESOL/ NJBE NJ Teachers of English to Speakers of Other Languages	New Brunswick, NJ	5/29/19 & 5/30/19	\$279.00	Mileage: \$55.94 Tolls:\$14.60 Parking: \$30.00
6	Barone, Elizabeth	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00
7	Cioffi, Margaret	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00

8	Hansen, Patty	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00
9	Kornfeld, Barbara	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00
10	Loshiavo, Jennifer	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00
11	O'Keefe, Kelly	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00
12	Pena, Aimee	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00
13	Russo, Sarah	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00
14	Sconza, Michael	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00
15	Shuler, Beth	Aide	Interregional Paraprofessional	Region V	Paramus NJ	1/21/19	\$0.00	\$0.00

	Attendee	Position/ Position Code	Conference / Workshop	Sponsoring Agency	Location	Date(s)	Registration	OEA Compensation	Travel
16	Black, Jeanne	Teacher	TEGY NJ Scheduling Institute	TEGY, Fremont Street and Rutgers Graduate School of Education	Rutgers University, New Brunswick, NJ	1/10/19, 1/11/19, Spring 2019 Day TBD, Fall 2019 Day TBD	\$880.00	Attendance outside of Contractual Hours from 3:30-4:30 (as per Article XII, J): 1 hour per day x \$30 = \$30 x 4 days = \$120	Mileage: \$111.85 Tolls: \$25.20 Total: \$137.05
17	Bozios, Megan	Principal	TEGY NJ Scheduling Institute	TEGY, Fremont Street and Rutgers Graduate School of Education	Rutgers University, New Brunswick, NJ	1/10/19, 1/11/19, Spring 2019 Day TBD, Fall 2019 Day TBD	\$880.00	N/A	Mileage: \$80.85 Tolls: \$19.20 Total: \$100.05
18	Cataldo, Rosemarie	Teacher	TEGY NJ Scheduling Institute	TEGY, Fremont Street and Rutgers Graduate School of Education	Rutgers University, New Brunswick, NJ	1/10/19, 1/11/19, Spring 2019 Day TBD, Fall 2019 Day TBD	\$880.00	Attendance outside of Contractual Hours from 3:30-4:30 (as per Article XII, J): 1 hour per day x \$30 = \$30 x 4 days = \$120	Mileage: \$47.62 Tolls: \$29.20 Total: \$76.82
19	Hagopian, Michael	Vice Principal	TEGY NJ Scheduling Institute	TEGY, Fremont Street and Rutgers Graduate School of Education	Rutgers University, New Brunswick, NJ	1/10/19, 1/11/19, Spring 2019 Day TBD, Fall 2019 Day TBD	\$880.00	N/A	Mileage: \$116.31 Tolls: \$31.20 Total: \$147.51

20	Pizza, Tea Melissa	Sch	heduling stitute	TEGY, Fremont Street and Rutgers Graduate School of Education	Rutgers University, New Brunswick, NJ	1/10/19, 1/11/19, Spring 2019 Day TBD, Fall 2019 Day TBD	\$880.00	Attendance outside of Contractual Hours from 3:30-4:30 (as per Article XII, J): 1 hour per day x \$30 = \$30 x 4 days = \$120	Mileage: \$108.38 Tolls: \$25.20 Total: \$133.58
----	-----------------------	-----	---------------------	--	---	---	----------	---	---

- IX. INTERNS/TUTORS/VOLUNTEERS: NONE
- X. SPECIAL ISSUES: NONE